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MARK SCHEME — GCSE URDU - LISTENING - SPECIMEN

Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
guestions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Assessment Writer.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’'s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.

There is no requirement for grammatical accuracy in GCSE Urdu Listening candidate responses.

Errors of grammar or spelling should not be penalised unless they impede comprehension of the key
idea.

Further copies of this mark scheme are available from aga.org.uk
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Qu Key idea Accept Reject Mark

01 Winter In the winter Any words in Urdu 1

Qu Key idea Accept Reject Mark

, ) Her cousin’s/Uncle’s .

02 Dad'’s brother’s son ) , Any words in Urdu 1
son/Dad’s brother’s son

Qu Key idea Accept Reject Mark

. : . Any words in Urdu
03 g;r;lqent of meeting/seeing her ﬁrr:tat?:neé her relatives for the She met her relatives (on its own) 1
y She met her family.

Qu Key idea Accept Reject Mark

She had a very good time ,
. L . there OR The time passed by Any Wo_rds in Urdu

04 She enjoyed her time in Pakistan. . - Her holidays were too short. 1
so quickly OR She didn't feel She liked the weddin
like coming back. 9-

Qu Accept Mark

05.1 B 1

05.2 B 1

05.3 A 1

05.4 A 1

05.5 B 1
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Qu Accept Mark
06 P 1
Qu Accept Mark
07 P+N 1
Qu Accept Mark
08 N 1
Qu Accept Mark
09 P+N 1
Qu Accept Mark
10 C 1
Qu Accept Mark
11 F 1
Qu Accept Mark
12 D 1
Qu Accept Mark
13 A 1
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Qu Key idea Accept Reject Mark
14.1 Healthy food (He tries to stay fit) by eating Good food 1
healthy food.
Smoking can cause cancer (1) Smokina can kill
14.2 Cancer (1) and fatal disease (1) which is a fatal disease (1) Smoking is dan .erous 2
He is against smoking (1) 9 9 '
he goes for a walk in the He goes for a week.
14.3 going to the countryside cou%]tr side Or 1
y Wednesday
15.1 Doing exercise (1) He did some exercise (1) 5
' and enjoying it (1) and enjoyed it (1)
A 3 mile race (1) He took part in a 3 mile race He took part in a race.
15.2 U . Or 2
and getting tired (1) (1) and got tired (1) He walked for 3 miles
N He will go swimming (1)
15.3 SW|mm_|n_g (1) because it is good for his 2
and opinion (good for health) (1) health (1)
Qu Accept Mark
16.1 C 1
16.2 B 1
16.3 C 1
16.4 B 1
Qu Accept Mark
17.1 1
17.2 1
17.3 D 1
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Qu Key idea Accept Reject Mark
Relationship (1), 1 Good relationship among
drainage system (1) people living in the village
18.1 and provision of electricity (1) 2 Excellent drainage system 3
3 Electricity
No schools (1) 1 no educational institution,
18.2 No developmental work (1) 2 no developmental work by 3
' Government
No gas (1) 3 nogas
Qu Key idea Accept Reject Mark
Note: Listening questions (19-22) requiring a
response in the target language are marked for
19 J{:., comprehension only: there is no requirement 1
= for accuracy. Answers should be given full
credit if the candidate has given a
comprehensible response to the question.
Qu Key idea Accept Reject Mark
20 S id 1
Qu Key idea Accept Reject Mark
21 @g '/J“ 7 1
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Qu Key idea Accept Reject Mark
22 LSt diy 1
Qu Key idea Accept Reject Mark
- Note: Listening questions (23.1-23.6) requiring
a’VcCcJ:/JD LS a response in the target language are marked
. 1% ’f'd' for comprehension only: there is no
31 uﬁul,x/;g:/‘-?’ requirement for accuracy. Answers should be )
: ° 2 % % | given full credit if the candidate has given a
uté‘cf'utbjéf comprehensible response to the question.
U
@’L’LJ
G AL A [T = BT 2
23.2 2
Py N E L
LGl
W7
Szl }l‘x‘/c/lbjd/ﬁ
23.3 ?

rij 24
el 5}&‘&/,5
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